do/d Ag(sub-lead. lep., lead. jet)

Ratio to ATLAS

18

16

14

12

10

0.5

Rivet 3.1.10, = 2M events

13000 GeV pp WW
T T T [~ 1 T T 1 ]
N A@(lepton,jet) (ATLAS WWH+iets, b veto) _
[ m  ATLAS ]
~ —— Pythia 8.308 default 7
L - - Pythia 8.308 tune-4c —
o & Pythia 8.308 tune-4cx ]
B m ]
E _
| - g . . ]
B ] _
| | u _
_l | | | | | | | | | | | | | | ' B
:l T T T T | T T T T | T T T | :

| " " | " 1 " 1 " 1 " /‘I%~ " | " " %l "
0 1 2 3

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5

Ag@(sub-lead. lep., lead. jet)



	Contents
	Page 1


